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SOCIOLOGY Test Series 2024  

TEST 08 

 
 

  

 

 

Question Paper Specific Instructions: 

➢ There are EIGHT questions in the question paper divided in two sections printed in 

ENGLISH.       

➢ Question 1 and 5 are compulsory. You can attempt any THREE out of the remaining, 

Choosing at least ONE Question from each section. 

➢ The number of marks carried by a question /part is indicated against it.  

➢ Word limit in questions, wherever specified, should be adhered to. 

➢ Content is more important than content length. 

 

Section A 

 
Q.1) Comment on the following in about 150 words each:                         10x5=50 

(a) Describe AR Desai’s dialectical approach to study Indian society. 

(b)  What do you understand by ‘caste system’? Trace the evolution of caste 

system from GS Ghurye’s standpoint. 

(c)  Critically analyse MN Srinivas’s contribution to the village studies. 

(d)  What is caste politics? How does it shape political discourse? 

(e)  Discuss the salient features of ‘new middle classes’ in India.     

  

Q.2) (a)  Indian society has experienced a shift from ‘hierarchical inequality’ to 
‘competitive inequality’. Do you agree?        (20 marks) 

(b)  Write a note on ‘cultural pluralism’ in multi religious society like India. 

                (20 marks) 

(c)  Caste system is characterized by hierarchy & hyper symbolism. Comment. 

              (10 marks) 

 

Q.3) (a) Modernisation program led by Indian state seems to have weakened the 

book view of Indian society. Do you agree?         (20 marks) 

(b)  Draw comparison between Louis Dumont & Andre Beteille on Caste system 
in Indian society.           (20 marks) 

(c)  Urban slums are sites of social exclusion- explain.            (10 marks) 

 

 

 

 

 

Maximum Marks: 250 Time Allowed: Three Hours 
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Q.4) (a) Analyse the issues related to the citizenship in contemporary India. Give 

suitable examples.           (20 marks) 

(b)  Point out the main causes of ‘child labour’ in India. How far the state 

policies have succeeded in its elimination?             (20 marks) 

(c)  Caste system is characterized by hierarchy & hyper symbolism. Comment. 

                (10 marks) 

 

Section B 

 

Q.5) Answer the following in about 150 words each:              10x5=50 

(a)  Write a short note on the uneven impact of Green Revolution on rural 
society. 

(b)  What is the idea of the Indian Village? Explain. 

(c)  Differentiate between marriage as sacrament and marriage as contract. 

(d)  Discuss how social exclusion operates in the higher education system in 
India? 

(e)  Write a short note on the changing nature of patriarchy and its impacts on 
women 

 

Q.6) (a)  Despite gains from the Women’s movement and state policy of women 

empowerment, gender equality is far from achieved. Identify two major 

challenges that prevent this goal from being reached.                    (20 marks) 

        (b)  Discuss in detail the main issues of development planning in mixed economy 
like India?            (20 marks) 

        (c)  Comment on the critical issues of commercialization of higher education in 
India.                 (10 marks) 

 

Q.7) (a) How reduction of green cover affecting ecological degradation leading to 

global warming? Elaborate your answers with illustrations.     (20 marks) 

(b) With increase in education and economic development, is Indian society 
becoming more secular?          (20 marks) 

(c) How is the tribal question related with the issues of Integration and 

autonomy in modern India?          (10 marks) 

 

Q.8) (a) Describe Non-Brahmin movements across different regions in India.     

              (20 marks) 

(b)  Underline the socio-cultural factors responsible for India’s skewed sex ratio. 

               (20 marks) 

(c)   Despite women’s movement and international conventions, the violence 

against women remains a perpetual issue. What could be the possible 

reasons?              (10 marks) 
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